UTMS 2007-23

December 17, 2007

Asymptotic Behavior of distributions of the sum of i.i.d. random variables with fat tail I

by

Hirotaka FUSHIYA and Shigeo KUSUOKA



UNIVERSITY OF TOKYO

GRADUATE SCHOOL OF MATHEMATICAL SCIENCES KOMABA, TOKYO, JAPAN

Asymptotic Behavior of distributions of the sum of i.i.d. random variables with fat tail I

Hirotaka FUSHIYA and Shigeo KUSUOKA *

1 Introduction

Let (Ω, \mathcal{F}, P) be a probability space. Let X_n , $n = 1, 2, \ldots$, be independent identically distributed random variables, and $F : \mathbf{R} \to [0, 1]$ and $\overline{F} : \mathbf{R} \to [0, 1]$ be given by

$$F(x) = P(X_1 \leq x), \quad \text{and} \quad \overline{F}(x) = P(X_1 > x), \quad x \in \mathbf{R}$$

We assume the following.

(A-1) $\overline{F}(x)$ is a regular varying function of index $-\alpha$, for some $\alpha > 2$, as $x \to \infty$, i.e., if we let

$$L(x) = x^{\alpha} \bar{F}(x), \qquad x \in \mathbf{R},$$

then L(x) > 0 for any x > 0, and for any a > 0

$$\frac{L(ax)}{L(x)} \to 1, \qquad x \to \infty.$$

Also we assume the following.

(A2) $x^{\alpha-\delta}F(-x) \to 0$, as $x \to \infty$ for any $\delta > 0$.

Since $\alpha > 2$, we see that $E[|X_1|^2] < \infty$. We assume furthermore for simplicity that (A3) $E[X_1] = 0$.

Our first main theorem is the following.

Theorem 1 Assume the assumptions (A-1), (A-2) and (A-3), and let $\beta : \mathbf{N} \to (0, \infty)$ be such that

$$rac{eta(n)}{(\log n)^{1/2}} o \infty, \qquad n o \infty.$$

Then we have

$$\sup_{s \ge n^{1/2} \beta(n)} \left| \frac{P(\sum_{k=1}^n X_k > s)}{n\bar{F}(s)} - 1 \right| \to 0, \qquad n \to \infty.$$

^{*}Graduate School of Mathematical Sciences, The University of Tokyo, Komaba 3-8-1, Meguro-ku, Tokyo 153-8914, Japan, research supported by the 21st century COE project, Graduate School of Mathematical Sciences, The University of Tokyo

We remark that the following has been shown essentially by Feller [1].

Theorem 2 (Feller) Under the assumptions (A-1),(A-2) and (A-3), we have for any $N \ge 1$

$$\left|\frac{P(\sum_{k=1}^{N} X_k > x)}{N\bar{F}(x)} - 1\right| \to 0, \qquad x \to \infty.$$

Note that the number of random variables is fixed in Feller's result, but is increasing in our result.

Let us assume the following furthermore.

(A-4) There is an $x_0 > 0$ such that \overline{F} is twice continuously differentiable on (x_0, ∞) and that

$$x^2 \frac{d^2}{dx^2} \log \bar{F}(x) \to \alpha, \qquad x \to \infty.$$

Then we have the following.

Theorem 3 Assume the assumptions (A-1), (A-2), (A-3) and (A-4) and let $\beta : \mathbb{N} \to (0,\infty)$ be such that

$$rac{eta(n)}{(\log n)^{1/2}} o \infty, \qquad n o \infty.$$

Let $v = E[X_1^2]$. Then we have

$$\sup_{s \ge n^{1/2} \beta(n)} \frac{s^2}{n} \left| \frac{P(\sum_{k=1}^n X_k > s)}{n\bar{F}(s)} - \left(1 + \frac{\alpha(\alpha+1)vn}{2s^2}\right) \right| \to 0, \qquad n \to \infty$$

2 Preparations

Proposition 4 Let Y be a random variable and $\gamma \in (1, 2]$, and assume that

$$E[|Y|^{\gamma}] < \infty \quad and \quad E[Y] = 0.$$

Then for any $s \in \mathbf{R} \setminus \{0\}$ and b > 0

$$E[\exp(sY1_{\{|Y| \le b\}})] \le 1 + |s|^{\gamma}(1 + (\frac{1}{|s|b})^{\gamma-1})\exp(|s|b)E[|Y|^{\gamma}].$$

Proof. First, note that

$$|\exp(x) - 1| \leq 1 \lor \exp(x),$$

and

$$|\exp(x) - 1| = |\int_0^x e^y dy| \le |x|(1 \lor \exp(x)), \qquad x \in \mathbf{R}.$$

So we have

$$|\exp(x) - (1+x)| = |\int_0^x (e^y - 1)dy| \le (|x| \wedge |x|^2)(1 \vee \exp(x))$$

for any $x \in \mathbf{R}$. Therefore we see that

$$|\exp(x) - (1+x)| \leq |x|^{\gamma} \exp(|x|), \qquad x \in \mathbf{R}$$

for $\gamma \in (1, 2]$.

Therefore we have

$$\begin{split} |E[\exp(sY1_{\{|Y| \leq b\}})] - (1 + E[sY1_{\{|Y| \leq b\}}])| \\ &\leq |s|^{\gamma} \exp(|s|b)E[|Y|^{\gamma}]. \end{split}$$

Since

$$|E[sY1_{\{|Y| \le b\}}]| = |sE[Y, |Y| > b]| \le |s|b^{-(\gamma-1)}E[|Y|^{\gamma}],$$

we have our assertion.

Proposition 5 Let X be a random variable and $\gamma \in (1, 2]$. We assume that

$$E[|X|^{\gamma}] < \infty \text{ and } E[X] = 0.$$

Then for any t > 0 and $n \ge 1$

$$n\log E[\exp(\pm\frac{1}{tn^{1/\gamma}}X1_{\{|X|\leq tn^{1/\gamma}\}})] \leq \frac{6}{t^{\gamma}}E[|X|^{\gamma}].$$

Proof. Let Y = (1/t)X, $s = \pm n^{-1/\gamma}$, $b = n^{1/\gamma}$, and apply Proposition 4. Since $\log(1+x) \leq x$, $x \geq 0$, we have our assertion.

Now let X_n , n = 1, 2, ..., be independent identically distributed random variables and $\gamma \in (1, 2]$. Throughout this section we assume that

$$E[|X_1|^{\gamma}] < \infty$$
 and $E[X_1] = 0$.

Proposition 6 For any s, t > 0 and $\varepsilon > 0$

$$P(|\sum_{k=1}^{n} X_k \mathbf{1}_{\{|X_k| \le tn^{1/\gamma}\}}| \ge sn^{1/\gamma}) \le 2\exp(\frac{6}{t^{\gamma}} E[|X_1|^{\gamma}])\exp(-\frac{s}{t}).$$

Proof. We see that

$$P(\pm \sum_{k=1}^{n} X_k \mathbb{1}_{\{|X_k| \le tn^{1/\gamma}\}} \ge sn^{1/\gamma})$$

$$\leq \exp(-\frac{s}{t}) E[\exp(\frac{\pm 1}{tn^{1/\gamma}} \sum_{k=1}^{n} X_k \mathbb{1}_{\{|X_k| \le tn^{1/\gamma}\}})]$$

$$\leq \exp(-\frac{s}{t}) E[\exp(\frac{\pm 1}{tn^{1/\gamma}} X_1 \mathbb{1}_{\{|X_1| \le tn^{1/\gamma}\}})]^n.$$

Then by Proposition 5 we have our assertion.

Let $F : \mathbf{R} \to [0, 1]$ and $\overline{F} : \mathbf{R} \to [0, 1]$ be given by

$$F(x) = P(X_1 \le x), \qquad x \in \mathbf{R}$$

and

$$\bar{F}(x) = P(X_1 > x), \qquad x \in \mathbf{R}.$$

Then we have the following.

Proposition 7 (1) For any t, s > 0, and $n \ge 2$,

$$P(|\sum_{k=2}^{n} X_k 1_{\{|X_k| \le tn^{1/\gamma}\}}| > sn^{1/\gamma}) \le 2\exp(\frac{6}{t^{\gamma}} E[|X_1|^{\gamma}])\exp(-\frac{s}{t}).$$

(2) For any $s, t > 0, \varepsilon \in (0, 1)$ with $t < (1 - \varepsilon)s$,

$$\begin{split} |P(\sum_{k=1}^{n} X_k > sn^{1/\gamma}) - nP(X_1 + \sum_{k=2}^{n} X_k \mathbf{1}_{\{|X_k| \le tn^{1/\gamma}\}} > sn^{1/\gamma}, \ |\sum_{k=2}^{n} X_k \mathbf{1}_{\{|X_k| \le tn^{1/\gamma}\}}| \le \varepsilon sn^{1/\gamma})| \\ & \le 2n(n-1)(F(-tn^{1/\gamma}) + \bar{F}(tn^{1/\gamma}))^2 + 2\exp(\frac{6}{t^{\gamma}}E[|X_1|^{\gamma}])\exp(-\frac{s}{t}) \\ & + 2n(F(-tn^{1/\gamma}) + \bar{F}(tn^{1/\gamma}))\exp(\frac{6}{t^{\gamma}}E[|X_1|^{\gamma}])\exp(-\frac{\varepsilon s}{2t}) \end{split}$$

Proof. Note that

$$P(|\sum_{k=2}^{n} X_k \mathbf{1}_{\{|X_k| \le tn^{1/\gamma}\}}| > sn^{1/\gamma})$$

= $P(|\sum_{k=1}^{n-1} X_k \mathbf{1}_{\{|X_k| \le \tilde{t}(n-1)^{1/\gamma}\}}| > \tilde{s}(n-1)^{1/\gamma}),$

where

$$\tilde{t} = t(\frac{n}{n-1})^{1/\gamma}, \qquad \tilde{s} = s(\frac{n}{n-1})^{1/\gamma}.$$

So we have the assertion (1) from Proposition 6.

Let us denote

$$\tilde{F}(x) = P(|X_1| > x) \leq F(-x) + \bar{F}(x), \qquad x > 0.$$

Note that

$$P(\sum_{k=1}^{n} X_k > sn^{1/\gamma}) = \sum_{m=0}^{n} I_m,$$

where

$$I_m = P(\sum_{k=1}^n X_k > sn^{1/\gamma}, \sum_{k=1}^n 1_{\{|X_k| > tn^{1/\gamma}\}} = m), \qquad m = 0, 1, \dots, n.$$

Then we have

$$I_m = \binom{n}{m} P(\sum_{k=1}^n X_k > sn^{1/\gamma}, |X_i| > tn^{1/\gamma}, i = 1, \dots, m, |X_j| \le tn^{1/\gamma}, j = m+1, \dots, n),$$

for $m = 0, 1, \ldots, n$. So we see that

$$\sum_{m=2}^{n} I_m \leq \sum_{m=2}^{n} \frac{n(n-1)}{m(m-1)} {n-2 \choose m-2} \tilde{F}(tn^{1/\gamma})^m (1-\tilde{F}(tn^{1/\gamma}))^{n-m} \leq \frac{n(n-1)}{2} \tilde{F}(tn^{1/\gamma})^2.$$
(1)

Also, by Proposition 6, we have

$$I_0 \leq 2 \exp(-\frac{s}{t}) \exp(\frac{6}{t^{\gamma}} E[|X_1|^{\gamma}]).$$

$$\tag{2}$$

Let

$$A_{1} = \{ |X_{1}| > tn^{1/\gamma} \}, \qquad A_{2} = \{ |X_{k}| \leq tn^{1/\gamma}, k = 2, 3, \dots, n \},$$
$$B_{1} = \{ X_{1} + \sum_{k=2}^{n} X_{k} \mathbb{1}_{\{ |X_{k}| \leq tn^{1/\gamma} \}} > sn^{1/\gamma} \},$$

and

$$B_{2} = \{ |\sum_{k=2}^{n} X_{k} \mathbb{1}_{\{|X_{k}| \leq tn^{1/\gamma}\}} | \leq \varepsilon sn^{1/\gamma} \}.$$

Note that $B_1 \cap B_2 \subset A_1$, since $t < (1 - \varepsilon)s$. So we see that

$$|P(B_{1} \cap A_{1} \cap A_{2}) - P(B_{1} \cap B_{2})|$$

$$\leq P(B_{1} \cap B_{2}^{c} \cap A_{1} \cap A_{2}) + P(B_{1} \cap B_{2} \cap A_{1} \cap A_{2}^{c})$$

$$\leq P(A_{1})P(B_{2}^{c}) + P(A_{1})P(A_{2}^{c}).$$
(3)

Note that

$$P(A_2^c) \leq \sum_{k=2}^n P(|X_k| > tn^{1/\gamma}) = (n-1)\tilde{F}(tn^{1/\gamma}).$$

Also, by the assertion (1) we have

$$P(B_2^c) \leq 2 \exp(\frac{6}{t^{\gamma}} E[|X_1|^{\gamma}]) \exp(-\frac{\varepsilon s}{2t}).$$

Since $I_1 = nP(B_1 \cap A_1 \cap A_2)$, we have the assertion from Equations (1), (2) and (3).

This completes the proof.

3 Proof of Theorem 1

Now let us prove Theorem 1. Let $\beta : \mathbf{N} \to (0, \infty)$ be such that

$$rac{eta(n)}{(\log n)^{1/2}} o \infty, \qquad n o \infty.$$

Assume that Theorem 1 is not valid. Then there is a sequence of positive numbers $\{s'_n\}_{n=1}^{\infty}$ such that $s'_n \ge n^{1/2}\beta(n)$, n = 1, 2, ..., and

$$\overline{\lim_{n\to\infty}} |\frac{P(\sum_{k=1}^n X_k > s'_n)}{n\bar{F}(s'_n)} - 1| > 0.$$

Let $s_n = n^{-1/2} s'_n \geq \beta(n)$. Let us take an $r \in ((\alpha + 2)/(2\alpha), 1)$ and fix it. Let t_n , $n = 1, 2, \ldots$, be a sequence of positive numbers given by

$$t_n = (\log n)^{-1/2} + (\log n)^{-1} s_n^{(1+r)/2}, \qquad n \ge 2.$$

Then we have the following.

$$t_n s_n \ge \frac{\beta(n)}{(\log n)^{1/2}} \to \infty, \quad n \to \infty,$$
 (4)

$$\frac{2s_n}{t_n} \ge ((\log n)^{1/2} s_n) \wedge ((\log n) s_n^{(1-r)/2}), \quad n \ge 2,$$
(5)

$$\frac{2s_n}{(\log n)t_n} \ge \left(\frac{\beta(n)}{(\log n)^{1/2}}\right) \wedge \left(s_n^{(1-r)/2}\right) \to \infty, \quad n \to \infty,\tag{6}$$

and

$$\frac{(t_n n^{1/2})^2}{(s'_n)^{1+r}} \ge \frac{(\log n)^{-2} s_n^{1+r} n}{s_n^{1+r} n^{(1+r)/2}} \to \infty, \quad n \to \infty.$$
(7)

Therefore by Equation (7), we have

$$\frac{(F(-t_n n^{1/2}) + \bar{F}(t_n n^{1/2}))^2}{\bar{F}(s'_n)^{2r}} \to 0, \quad n \to \infty.$$

Since $2r - 1 > 2/\alpha$, we have

$$(s'_n)^2 \frac{(F(-t_n n^{1/2}) + \bar{F}(t_n n^{1/2}))^2}{\bar{F}(s'_n)} \to 0, \quad n \to \infty.$$
(8)

Also, by Equations (4), (5) and (6) we see that for any $m\geqq 1$

$$(ns'_{n})^{m} \exp(\frac{m}{t_{n}^{2}} - \frac{1}{m} \frac{s_{n}}{t_{n}})$$

$$= \exp(\frac{m}{t_{n}^{2}} (1 - \frac{1}{3m^{2}} t_{n} s_{n})) n^{3m/2} \exp(-(\log n) \frac{1}{3m} \frac{s_{n}}{(\log n) t_{n}})$$

$$\times (s_{n})^{m} \exp(-\frac{1}{3m} \frac{s_{n}}{t_{n}}) \to 0, \qquad n \to \infty.$$

Let us take an $\varepsilon \in (0,1)$ and fix it. For $n \geqq 1,$ let

$$c_n(\varepsilon) = P(X_1 + \sum_{k=2}^n X_k \mathbf{1}_{\{|X_k| \le t_n n^{1/2}\}} > s_n n^{1/2}, \ |\sum_{k=2}^n X_k \mathbf{1}_{\{|X_k| \le t_n n^{1/2}\}}| \le \varepsilon s_n n^{1/2}).$$

Note that $t_n < (1 - \varepsilon)s_n$ for sufficiently large n. Taking $\gamma = 2$ in Proposition 7 (2) we see that by Equation (8)

$$\frac{(s_n')^2}{n} \frac{1}{n\bar{F}(s_n')} |P(\sum_{k=1}^n X_k > s_n') - nc_n(\varepsilon)| \to 0, \qquad n \to \infty.$$
(9)

Note that

$$\bar{F}(s'_n(1+\varepsilon)) - P(|\sum_{k=2}^n X_k \mathbb{1}_{\{|X_k| \le t_n n^{1/2}\}}| > \varepsilon s_n n^{1/2}) \le c_n(\varepsilon) \le \bar{F}(s'_n(1-\varepsilon)).$$

By Proposition 7(1), we have

$$\frac{1}{\bar{F}(s'_n)} P(|\sum_{k=2}^n X_k \mathbb{1}_{\{X_k \le t_n n^{1/2}\}}| > \varepsilon s_n n^{1/2}) \to 0, \qquad n \to \infty.$$

Thus we have

$$(1+\varepsilon)^{-\alpha} = \lim_{n \to \infty} \frac{\bar{F}(s_n'(1+\varepsilon))}{\bar{F}(s_n')} \leq \lim_{n \to \infty} \frac{c_n(\varepsilon)}{\bar{F}(s_n')} \leq \lim_{n \to \infty} \frac{P(\sum_{k=1}^n X_k > s_n')}{n\bar{F}(s_n')}$$

and

$$\overline{\lim_{n \to \infty} \frac{P(\sum_{k=1}^{n} X_k > s'_n)}{n\bar{F}(s'_n)}} \leq \overline{\lim_{n \to \infty} \frac{c_n(\varepsilon)}{\bar{F}(s'_n)}} \leq \overline{\lim_{n \to \infty} \frac{\bar{F}(s'_n(1-\varepsilon))}{\bar{F}(s'_n)}} = (1-\varepsilon)^{-\alpha}$$

Since $\varepsilon \in (0, 1)$ is arbitrary, we see that

$$\lim_{n \to \infty} \frac{P(\sum_{k=1}^{n} X_k > s'_n)}{n\bar{F}(s'_n)} = 1.$$

This contradicts our assumption.

This completes the proof of Theorem 1.

4 Some estimates

In this section, we assume that (A-1) and (A-4).

Let $g: (x_0, \infty) \to \mathbf{R}$ and $H: [-1/2, 1/2] \times (2x_0, \infty) \to (0, \infty)$ be given by

$$g(x) = x^2 \frac{d^2}{dx^2} (\log \bar{F})(x) - \alpha, \qquad x > x_0,$$

and

$$H(y;x) = \frac{\bar{F}(x(1+y))}{\bar{F}(x)}, \qquad y \in [-1/2, 1/2], \ x > 2x_0.$$

We prove the following in this section.

Proposition 8 There are functions $a : (2x_0, \infty) \to \mathbf{R}$, $c : (2x_0, \infty) \to [0, \infty)$ and a constant C > 0 such that $a(x) \to 0$ and $c(x) \to 0$, as $x \to \infty$, and that

$$|H(y;x) - \{1 + a(x)y - \alpha y + \frac{\alpha(\alpha+1)y^2}{2}\}| \leq C(c(x)y^2 + |y|^3), \qquad y \in [-1/2, 1/2], \ x > 2x_0.$$

First we prove the following.

Proposition 9 (1) For any $x > x_0$,

$$\frac{d}{dx}\log(x^{\alpha}\bar{F}(x)) = -\int_{x}^{\infty}\frac{g(z)}{z^{2}}.$$

(2) For any $y \in [-1/2, 1/2]$ and $x > 2x_0$,

$$H(y;x) = (1+y)^{-\alpha} \exp(-\int_0^y dy' \int_{1+y'}^\infty \frac{g(xz)}{z^2} dz).$$

Proof. Note that

$$g(x) = x^2 \frac{d^2}{dx^2} (\log(x^{\alpha} \bar{F}(x)))$$

and $g(x) \to 0$ as $x \to \infty$. Then we see that

$$\frac{d}{dy}(\log(y^{\alpha}\bar{F}(y))) - \frac{d}{dx}(\log(x^{\alpha}\bar{F}(x))) = \int_{x}^{y} \frac{g(z)}{z^{2}} dz,$$
(10)

and so we see that

$$c_0 = \lim_{y \to \infty} \frac{d}{dy} (\log(y^{\alpha} \bar{F}(y)))$$

exists. Note that

$$\exp(\int_x^{2x} \frac{d}{dy} (\log(y^{\alpha} \bar{F}(y))) dy) = \frac{L(2x)}{L(x)} \to 1, \qquad x \to \infty.$$

So we see that $c_0 = 0$. Therefore letting $y \to \infty$ in Equation (10) we have the assertion (1).

By the assertion (1), we have

$$\frac{d}{dy}\log((1+y)^{\alpha}H(y;x)) = -x\int_{x(1+y)}^{\infty}\frac{g(z)}{z^2}dz = -\int_{1+y}^{\infty}\frac{g(xz)}{z^2}dz$$

Since H(0; x) = 1, we have the assertion (2).

Proposition 10 Let $\tilde{a}: (2x_0, \infty) \to \mathbf{R}$ and $\tilde{c}: (2x_0, \infty) \to \mathbf{R}$ be given by

$$\tilde{a}(x) = \frac{d}{dy}((1+y)^{\alpha}H(y,x))|_{y=0},$$

and

$$\tilde{c}(x) = \sup_{y \in [-1/2, 1/2]} \left| \frac{d^2}{dy^2} ((1+y)^{\alpha} H(y, x)) \right|.$$

Then $\tilde{a}(x) \to 0$ and $\tilde{c}(x) \to 0$, as $x \to \infty$, and that

$$|H(y;x) - (1+y)^{-\alpha} - \tilde{a}(x)y(1+y)^{-\alpha}| \le 2^{\alpha}\tilde{c}(x)y^2, \qquad y \in [-1/2, 1/2], \ x > 2x_0.$$

Proof. By Proposition 9 We have

$$\frac{d}{dy}((1+y)^{\alpha}H(y;x)) = -(1+y)^{\alpha}H(y;x)\int_{1+y}^{\infty}\frac{g(xz)}{z^2}dz$$

and so

$$\tilde{a}(x) = -\int_{1}^{\infty} \frac{g(xz)}{z^2} dz$$

Similarly, we have

$$\frac{d^2}{dy^2}((1+y)^{\alpha}H(y;x)) = (1+y)^{\alpha}H(y;x)\{(\int_{1+y}^{\infty}\frac{g(xz)}{z^2}dz)^2 - (1+y)^{-2}g(x(1+y))\}$$

Therefore have

$$\tilde{c}(x) \leq 2^{\alpha} \{ \left(\int_{1/2}^{\infty} \frac{|g(xz)|}{z^2} dz \right)^2 + 4 \sup \{ |g(x(1+y))|; \ y \in [-1/2, 1/2] \} \} \exp(\int_{1/2}^{\infty} \frac{|g(xz)|}{z^2} dz)$$

These imply that $\tilde{a}(x) \to 0$, $\tilde{c}(x) \to 0$, as $x \to \infty$. Also we have

$$|(1+y)^{\alpha}H(y;x) - (1+\tilde{a}(x))| \leq \tilde{c}(x)y^2, \qquad x \geq 2x_0, \ y \in [-1/2.1/2].$$

This implies our assetion.

Now Proposition 8 is an easy corollary to Proposition 10.

5 Proof of Thoerem 3.

In this section, we assume that X_n , n = 1, 2, ..., are i.i.d. random variables, $\alpha > 2$ and (A-1) - (A-4) are satisfied. Let $p = (\alpha + 2)/2$ and $\beta = (\alpha + p)/2$. Then we see that $E[|X_1|^p] < \infty$ and there is a $C_0 > 1$ such that

$$F(-x) + \overline{F}(x) \leq C_0 x^{-\beta}, \qquad x \geq 1.$$

Proposition 11 Let $b(x) = E[X_1, |X_1| \le x] = -E[X_1, |X_1| > x], \quad x > 0.$ Then we have the following. (1) $|b(x)| \le E[|X_1|^p]^{1/p}(F(-x) + \bar{F}(x))^{1-1/p} \le C_0 x^{-\beta(p-1)/p} E[|X_1|^p]^{1/p}, \quad x \ge 1.$

(2) There is a constant $C_1 > 1$ only dependent on p such that

$$E[|\sum_{k=1}^{n} X_k 1_{\{|X_k| \le x\}}|^p]^{1/p} \le C_1 n^{1/2} (E[|X_1|^p]^{1/p} + |b(x)|) + n|b(x)|$$
$$\le C_1 E[|X_1|^p]^{1/p} (1 + C_0) (n^{1/2} + nx^{-\beta(p-1)/p})$$

for any $n = 1, 2, \ldots$, and $x \ge 1$.

Proof. The assertion (1) is an easy consequence of Hölder's inequality. So we prove the assertion (2). Since $E[X_k 1_{\{|X_k| \leq x\}} - b(x)] = 0, k = 1, 2, ...,$ we see by Burkholder-Davis-Gundy's theorem that there is a constant $C_1 > 0$ depending on p only such that

$$E[|\sum_{k=1}^{n} (X_k \mathbf{1}_{\{|X_k| \le x\}} - b(x))|^p]^{1/p} \le C_1 E[|\sum_{k=1}^{n} (X_k \mathbf{1}_{\{|X_k| \le x\}} - b(x))^2|^{p/2}]^{1/p}$$

Then by Hölder's inequality, we have

$$E[|\sum_{k=1}^{n} (X_k \mathbf{1}_{\{|X_k| \le x\}} - b(x))|^p]^{1/p} \le C_1 E[n^{p/2-1} \sum_{k=1}^{n} |X_k \mathbf{1}_{\{|X_k| \le x\}} - b(x)|^p]^{1/p}$$
$$= C_1 n^{1/2} E[|X_1 \mathbf{1}_{\{|X_1| \le x\}} - b(x)|^p]^{1/p} \le C_1 n^{1/2} (E[|X_1 \mathbf{1}_{\{|X_1| \le x\}}|^p]^{1/p} + |b(x)|)$$

This implies our assertion.

Remind Proposition 8 and let

$$R(y;x) = H(y;x) - \{1 + a(x)y - \alpha y + \frac{\alpha(\alpha+1)y^2}{2}\}, \qquad y \in [-1/2, 1/2], \ x > 2x_0.$$

Then there is a $C_2 > 0$ such that

$$|R(y;x)| \leq C_2(c(x)y^2 + y^3), \qquad y \in [-1/2, 1/2], \ x > 2x_0.$$

Let

$$Y_n(t) = \sum_{k=2}^n X_k \mathbb{1}_{\{|X_k| \le tn^{1/2}\}}, \qquad n \ge 2, \ t > 0.$$

Proposition 12 Let $r \in ((\alpha + 2)/(2\alpha), 1)$. Then for any $\varepsilon \in (0, 1/2)$

$$\begin{split} \overline{\lim_{n \to \infty}} \sup \{ s^2 E[|H(-\frac{1}{sn^{1/2}}Y_n(t), sn^{1/2}), \ |Y_n(t)| &\leq \varepsilon sn^{1/2}] - (1 + \frac{\alpha(\alpha+1)}{2s^2n}v)|; \\ s &\geq (\log n)^{1/2}, \ t \geq (\log n)^{-1}s^{(1+r)/2} \} = 0. \end{split}$$

Proof. Let $s \ge (\log n)^{1/2}$, $t \ge (\log n)^{-1} s^{(1+r)/2}$, and $n \ge 3$. Then $tn^{1/2} \ge 1$. We see that

$$\begin{split} E[H(-\frac{1}{sn^{1/2}}Y_n(t),sn^{1/2}), \ |Y_n(t)| &\leq \varepsilon sn^{1/2}] - (1 + \frac{\alpha(\alpha+1)}{2s^2}v) \\ &= \frac{a(sn^{1/2}) - \alpha}{sn^{1/2}}E[Y_n(t)] + \frac{\alpha(\alpha+1)}{2s^2n}(E[Y_n(t)^2] - nv) \\ &- E[1 + \frac{a(sn^{1/2}) - \alpha}{sn^{1/2}}Y_n(t) + \frac{\alpha(\alpha+1)}{2s^2n}Y_n(t)^2, |(sn^{1/2})^{-1}Y_n(t)| > \varepsilon] \\ &+ E[R(-\frac{1}{sn^{1/2}}Y_n(t),sn^{1/2}), |(sn^{1/2})^{-1}Y_n(t)| \leq \varepsilon]. \end{split}$$

Note that

$$\begin{split} s|E[Y_n(t)]| &= ns|b(tn^{1/2})| \leq C_0 E[|X_1|^p]^{1/p} s(tn^{1/2})^{-\beta(p-1)/p} \\ &\leq C_0 E[|X_1|^p]^{1/p} (n^{1/2} (\log n)^{-1})^{-\beta(p-1)/p} s^{1-(1+r)\beta(p-1)/2p}, \\ E[Y_k(t)^2] - nv &= n(E[(X_1 1_{|X_1| \leq tn^{1/2}})^2] - b(tn^{1/2})^2) + E[Y_n(t)]^2 - nv \\ &= -nE[X_1^2, |X_1| > tn^{1/2}] + n(n-1)b(tn^{1/2})^2, \end{split}$$

and

$$n^{-p/2} E[|Y_n(t)|^p] \le C_1^p (1+C_0)^p E[|X_1|^p] (1+t^{-\beta(p-1)/p}) n^{1/2(1-\beta(p-1)/p)})^p.$$

Also, note that

$$r\beta(p-1)/p > 1 + \frac{3(\alpha-2)}{8} > 1.$$

So we see that

$$\frac{1}{n}|E[Y_k(t)^2] - nv| \leq E[X_1^2, |X_1| > tn^{1/2}] + C_0(n-1)n^{-\beta(p-1)/p}(\log n)^{2\beta(p-1)/p}E[|X_1|^p]^{2/p},$$

$$s^{2}(sn^{1/2})^{-k}E[|Y_{n}(t)|^{k}, |(sn^{1/2})^{-1}Y_{n}(t)| > \varepsilon]$$

$$\leq s^{2-p}\varepsilon^{-p+k}n^{-p/2}E[|Y_{n}(t)|^{p}], \qquad k = 0, 1, 2,$$

and

$$s^{2}E[|R(-\frac{1}{sn^{1/2}}Y_{n}(t), sn^{1/2})|, |(sn^{1/2})^{-1}Y_{n}(t)| \leq \varepsilon],$$

$$\leq C_{2}(|c(sn^{1/2})|n^{-1}E[Y_{n}(t)^{2}] + \varepsilon^{-p}s^{2-p}n^{-p/2}E[|Y_{n}(t)|^{p}]$$

Combining them, we have our assertion.

Now we prove Theorem 3. We use the same idea in Section 3. Let $\beta : \mathbf{N} \to (0, \infty)$ be such that

$$rac{eta(n)}{(\log n)^{1/2}} o \infty, \qquad n o \infty.$$

Assume that Theorem 3 is not valid. Then there is a sequence of positive numbers $\{s'_n\}_{n=1}^{\infty}$ such that $s'_n \geq n^{1/2}\beta(n)$, n = 1, 2, ..., and

$$\lim_{n \to \infty} \frac{(s'_n)^2}{n} |\frac{P(\sum_{k=1}^n X_k > s'_n)}{n\bar{F}(s'_n)} - (1 + \frac{\alpha(\alpha+1)vn}{(s'_n)^2})| > 0.$$

Let $s_n = n^{-1/2} s'_n \ge \beta(n)$. Let us take an $r \in ((\alpha + 2)/(2\alpha), 1)$ and fix it. Let t_n , $n = 1, 2, \ldots$, be a sequence of positive numbers given by

$$t_n = (\log n)^{-1/2} + (\log n)^{-1} s_n^{(1+r)/2}, \qquad n \ge 2.$$

Then from Proposition 12, we see that

$$\begin{split} s_n^2 |\frac{nP(X_1 + Y_n(t) > sn^{1/2}, \ |Y_n(t)| \leq \varepsilon sn^{1/2})}{n\bar{F}(s_n n^{1/2})} - (1 + \frac{\alpha(\alpha + 1)vn}{s_n^2 n})| \\ = s_n^2 |E[H(-\frac{1}{sn^{1/2}}Y_n(t), sn^{1/2}), \ |Y_n(t)| \leq \varepsilon sn^{1/2}] - (1 + \frac{\alpha(\alpha + 1)vn}{s_n^2 n})| \to 0 \end{split}$$

as $n \to \infty$. Then Theorem 3 follows from this, Proposition 7(2), Equations (4), (5), (6), (7) and (8).

This completes the proof of Theorem 3.

6 Remarks

Let X_n , n = 1, 2, ..., be independent identically distributed random variables. and $F : \mathbf{R} \to [0, 1]$ and $\overline{F} : \mathbf{R} \to [0, 1]$ be given by

$$F(x) = P(X_1 \le x), \qquad x \in \mathbf{R}$$

and

$$\bar{F}(x) = P(X_1 > x), \qquad x \in \mathbf{R}.$$

Let us assume the following.

(B-1) $\overline{F}(x)$ is a regular varying function of index $-\alpha, \alpha \in (0, 2]$, as $x \to \infty$, i.e., if we let

$$L(x) = x^{\alpha} \bar{F}(x), \qquad x \in \mathbf{R},$$

L(x) > 0 for any x > 0, and for any a > 0

$$\frac{L(ax)}{L(x)} \to 1, \qquad x \to \infty.$$

(B-2) $x^{\alpha-\delta}F(-x) \to 0$, $x \to \infty$ for any $\delta > 0$.

In the case $\alpha > 1$, we see that $E[|X_1|] < \infty$. Let us assume furthermore that (B-3) $E[X_1] = 0$ if $\alpha > 1$.

Then we have the following.

Theorem 13 Assume the assumptions (B-1), (B-2) and (B-3). Then for any $\gamma \in (0, \alpha)$

$$\sup_{s \ge n^{1/\gamma}} \left| \frac{P(\sum_{k=1}^n X_k > s)}{n\bar{F}(s)} - 1 \right| \to 0, \qquad n \to \infty.$$

The proof is quite similar to that of Theorem 1.

The case that $\alpha \in (0, 1]$, we need the following propositions instead of Propositions 4 and 5.

Proposition 14 Let Y be a random variable and $\gamma \in (0, 1]$. Assume that

$$E[|Y|^{\gamma}] < \infty$$

Then for any $s \in \mathbf{R} \setminus \{0\}$ and b > 0

$$E[\exp(sY1_{\{|Y| \leq b\}}) \leq 1 + |s|^{\gamma} \exp(|s|b)E[|Y|^{\gamma}]$$

Proposition 15 Let X be a random variable and $\gamma \in (0, 1]$. We assume that

$$E[|X|^{\gamma}] < \infty$$

Then for any t > 0

$$n\log E[\exp(\pm \frac{1}{tn^{1/\gamma}}X\mathbf{1}_{\{|X| \leq tn^{1/\gamma}\}})] \leq \frac{6}{t^{\gamma}}E[|X|^{\gamma}].$$

References

 Feller, W.(1971), An Introduction to Probability Theory and Its Applications II, Wiley, New York. Preprint Series, Graduate School of Mathematical Sciences, The University of Tokyo

UTMS

- 2007–13 M. Bellassoued, D. Jellali and M. Yamamoto: Stability estimate for the hyperbolic inverse boundary value problem by local Dirichlet-to-Neumann map.
- 2007–14 M. Choulli and M. Yamamoto: Uniqueness and stability in determining the heat radiative coefficient, the initial temperature and a boundary coefficient in a parabolic equation.
- 2007–15 Yasuo Ohno, Takashi Taniguchi, and Satoshi Wakatsuki: On relations among Dirichlet series whose coefficients are class numbers of binary cubic forms.
- 2007–16 Shigeo Kusuoka, Mariko Ninomiya, and Syoiti Ninomiya: A new weak approximation scheme of stochastic differential equations by using the Runge-Kutta method.
- 2007–17 Wuqing Ning and Masahiro Yamamoto: The Gel'fand-Levitan theory for onedimensional hyperbolic systems with impulsive inputs.
- 2007–18 Shigeo Kusuoka and Yasufumi Osajima: A remark on the asymptotic expansion of density function of Wiener functionals.
- 2007–19 Masaaki Fukasawa: Realized volatility based on tick time sampling.
- 2007–20 Masaaki Fukasawa: Bootstrap for continuous-time processes.
- 2007–21 Miki Hirano and Takayuki Oda: Calculus of principal series Whittaker functions on GL(3, C).
- 2007–22 Yuuki Tadokoro: A nontrivial algebraic cycle in the Jacobian variety of the Fermat sextic.
- 2007–23 Hirotaka Fushiya and Shigeo Kusuoka: Asymptotic Behavior of distributions of the sum of i.i.d. random variables with fat tail I.

The Graduate School of Mathematical Sciences was established in the University of Tokyo in April, 1992. Formerly there were two departments of mathematics in the University of Tokyo: one in the Faculty of Science and the other in the College of Arts and Sciences. All faculty members of these two departments have moved to the new graduate school, as well as several members of the Department of Pure and Applied Sciences in the College of Arts and Sciences. In January, 1993, the preprint series of the former two departments of mathematics were unified as the Preprint Series of the Graduate School of Mathematical Sciences, The University of Tokyo. For the information about the preprint series, please write to the preprint series office.

ADDRESS:

Graduate School of Mathematical Sciences, The University of Tokyo 3–8–1 Komaba Meguro-ku, Tokyo 153-8914, JAPAN TEL +81-3-5465-7001 FAX +81-3-5465-7012